
12/28/2022    application_chart.xlsx

Note: not all bikes are listed - we just can't measure all bikes out there.  So...  

     If your bike is not a KTM and has two rear seat mounting bolts, one on each side of the seat, get the Style 1.

     If you have a KTM with the single under-seat bolt, get the Style 1 unless otherwise listed, but it mounts to the subframe stubs, NOT

        the seat mounting bolt!

     If you have a newer (2021+) KTM, get the Style 1 unless otherwise listed, but it mounts to the subframe stubs, NOT the seat

         mounting bolts!

     If you see your same model, but a different year, chances are good the style listed will work.

     If you get one and it doesn't work, send it to us for a full refund.

     If you are wondering about "Adjust length" column, it's just for us when we do custom embroidery.

     Extra plastic spacers, aluminum spacers, or longer bolts need to be ordered separately  

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

Beta

Beta 08 525 2 O, 2 EE, or 6 Style 1 12.0

Beta 13-14 250RR 2 O, 2 EE, or 6 Style 1 16.5

Beta 13-15 300RR 2 O, 2 EE, or 6 Style 1 16.5

Beta 16 Xtrainer 2 O, 2 EE, or 6 Style 3-4
Beta 18-23 300RR 2 O, 2 EE, or 6 Style 1 17.0

Beta 20 390RR-S 2 O, 2 EE, or 6 Style 1 17.0

Beta 20-22 XTrainer 2 O, 2 EE, or 6 Style 1 15.0

BMW

BMW 09 G450X 2 O, 2 EE, or 6 Style 1 9.0

BMW 07 G650X 2 O, 2 EE, or 6 Style 1 13.5

Cannondale

Can 03 E440 2 O, 2 EE, or 6 Style 1 8.5

Cobra

Cobra 07 CX50JR 2 O, 2 EE, or 6 Style 3-4

GasGas

GAS 23 MC50 2 O, 2 EE, or 6 Style 3-4

GAS 23 MC85 2 O, 2 EE, or 6 Style 1 16.0

GAS 22-23 MC125 2 O, 2 EE, or 6 Style 1 21.0

GAS 23 EC250 2 O, 2 EE, or 6 Style 1 22.0

GAS 22-23 EX250 2 O, 2 EE, or 6 Style 1 22.0

GAS 23 EX250F 2 O, 2 EE, or 6 Style 1 22.0

GAS 23 MC250 2 O, 2 EE, or 6 Style 1 21.0

GAS 22-23 MC250F 2 O, 2 EE, or 6 Style 1 21.0

GAS 07-09 EC300 2 O, 2 EE, or 6 Style 1 10.0

GAS 10-12 EC300 2 O, 2 EE, or 6 Style 1 16.0

GAS 21-23 EC300 2 O, 2 EE, or 6 Style 1 22.0

GAS 23 EX300 2 O, 2 EE, or 6 Style 1 22.0

GAS 13 300RR 2 O, 2 EE, or 6 Style 1 16.0

GAS CAMI 2 O, 2 EE, or 6 Style 1 16.0

GAS 18 XC300 2 O, 2 EE, or 6 Style 3-4

GAS 23 EX350F 2 O, 2 EE, or 6 Style 1 22.0

GAS 22-23 MC350F 2 O, 2 EE, or 6 Style 1 21.0

GAS 06 EC450 2 O, 2 EE, or 6 Style 1 10.0

GAS 22-23 EX450F 2 O, 2 EE, or 6 Style 1 22.0

GAS 22-23 MC450F 2 O, 2 EE, or 6 Style 1 22.0

Honda

Hon 00 XR50 2 O, 2 EE, or 6 Style 3-4 6.5

Hon 04-20 CRF50F 2 O, 2 EE, or 6 Style 3-4 6.5

Hon XR70 2 O, 2 EE, or 6 Style 1 10.5

Hon 04-07 CR70F 2 O, 2 EE, or 6 Style 3-4 8.5

Hon 00 XR80 2 O, 2 EE, or 6 Style 1 16"

Hon 04-13 CRF80F 2 O, 2 EE, or 6 Style 3-4 9.3

Hon 99 CR80R 2 O, 2 EE, or 6 Style 1 11.5

Hon 03-05 CR85R 2 O, 2 EE, or 6 Style 1 11.3

Hon 06 CR85R/RE 2 O, 2 EE, or 6 Style 1 9.0

Hon 04-13 CRF100F 2 O, 2 EE, or 6 Style 3-4 9.3

Hon 13-17 CRF110F 2 O, 2 EE, or 6 Style 1 10.5

Hon 18 CRF110F 2 O, 2 EE, or 6 Style 1 10.5 use M6x30 bolt, 3 plastic washers, stock spacer

Hon 20 CRF110F 2 O, 2 EE, or 6 Style 1 11.5

Hon 96 XR100 2 O, 2 EE, or 6 Style 1 14.0

Hon 03 XR100 2 O, 2 EE, or 6 Style 3-4

Hon 97 CR125R 2 O, 2 EE, or 6 Style 1 11.0

Rear Tugger Application Chart



12/28/2022    application_chart.xlsx

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

Hon 00 CR125R 2 O, 2 EE, or 6 Style 1 10.5

Hon 02-03 CR125R 2 O, 2 EE, or 6 Style 1 11.0

Hon 04-06 CR125R 2 O, 2 EE, or 6 Style 1 10.9

Hon 15-18 CRF125F/FB 2 O, 2 EE, or 6 Style 3-4 Mount under seat; sandwich between seat and frame

Hon 19-20 CRF125F/FB 2 O, 2 EE, or 6 Style 1 11.5

Hon 04-21 CRF150F 2 O, 2 EE, or 6 Style 3-4 10.5

Hon 07-13 CRF150R 2 O, 2 EE, or 6 Style 1 12.0

Hon 19-20 CRF150R 2 O, 2 EE, or 6 Style 1 12.0

Hon 2001 XR200R 2 O, 2 EE, or 6 Style 3-4

Hon 04-15 CRF230F 2 O, 2 EE, or 6 Style 3-4

Hon 19 CRF230F 2 O, 2 EE, or 6 Style 3-4

Hon 09 CRF230M 2 O, 2 EE, or 6 Style 1 15.0 street bike version

Hon 09 CRF230L 2 O, 2 EE, or 6 Style 1 15.0 street bike version

Hon 20 CRF250F 2 O, 2 EE, or 6 Style 3-4

Hon 13-18 CRF250L 2 O, 2 EE, or 6 Style 1 11.0 seat mount=11"; rear mount=8.5"

Hon 04-12 CRF250X 2 O, 2 EE, or 6 Style 1 10.3

Hon 04-06 CRF250R 2 O, 2 EE, or 6 Style 1 9.8

Hon 07 CRF250R 2 O, 2 EE, or 6 Style 1 11.2

Hon 08-13 CRF250R 2 O, 2 EE, or 6 Style 1 10.0

Hon 14-16 CRF250R 2 O, 2 EE, or 6 Style 1 9.0 2 Best to use two shoulder spacers on each side

Hon 19-21 CRF250R 2 O, 2 EE, or 6 Style 1 9.0

Hon 20 CRF250RX 2 O, 2 EE, or 6 Style 1 10.0

Hon 22 CRF250RX 2 O, 2 EE, or 6 Style 3-4

Hon 23 CRF250RX 2 O, 2 EE, or 6 none no clean solution - ingenuity required…

Hon 94 CR250R 2 O, 2 EE, or 6 Style 1 11.0

Hon 00-02 CR250R 2 O, 2 EE, or 6 Style 1 10.5

Hon 03-04 CR250R 2 O, 2 EE, or 6 Style 1 11.0

Hon 05-06 CR250R 2 O, 2 EE, or 6 Style 1 9.0

Hon 03-04 XR250 2 O, 2 EE, or 6 Style 1 12.2

Hon 21 CRF300L 2 O, 2 EE, or 6 Style 1 10.0

Hon 01-04 XR400R 2 O, 2 EE, or 6 Style 1 12.2

Hon 19 CRF450L 2 O, 2 EE, or 6 Style 1 11.0 2 M8x30 bolt, 3 plastic washers, 2 alum spacers each side

Hon 02-04 CRF450R 2 O, 2 EE, or 6 Style 1 11.0

Hon 05-06 CRF450R 2 O, 2 EE, or 6 Style 1 9.8

Hon 07 CRF450R 2 O, 2 EE, or 6 Style 1 10.8

Hon 08-09 CRF450R 2 O, 2 EE, or 6 Style 1 10.0

Hon 10-13 CRF450R 2 O, 2 EE, or 6 Style 1 9.0

Hon 14-16 CRF450R 2 O, 2 EE, or 6 Style 1 9.0 2 Best to use two shoulder spacers on each side

Hon 17-18 CRF450R 2 O, 2 EE, or 6 Style 1 10.5 4 plastic & 1 alum spacer on each side, with M8x30 bolt

Hon 19-20 CRF450R 2 O, 2 EE, or 6 Style 1 10.5 M8x30 bolt, stock spacer, 3 or 4 plastic washers

Hon 22 CRF450R 2 O, 2 EE, or 6 Style 3-4

Hon 21 CRF450RL 2 O, 2 EE, or 6 Style 1 10.5 M8x30 bolt, aluminum spacer, 3 or 4 plastic washers

Hon 20 CRF450RWE 2 O, 2 EE, or 6 Style 1 10.5 M8x30 bolt, stock spacer, 3 or 4 plastic washers

Hon 17-21 CRF450RX 2 O, 2 EE, or 6 Style 1 10.5 4 4 plastic & 1 alum spacer on each side, with M8x30 bolt

Hon 05 CRF450X 2 O, 2 EE, or 6 Style 1 9.8

Hon 06-16 CRF450X 2 O, 2 EE, or 6 Style 1 10.8

Hon 19-20 CRF450X 2 O, 2 EE, or 6 Style 1 10.5 2
Use 2 alum spacers and 3-4 plastic washers on each side, 

with M8x30 bolts

Hon 95-00 CR500 2 O, 2 EE, or 6 Style 1 13.0

Hon 01, 05 XR650R 2 O, 2 EE, or 6 Style 1 11.5

Hon 05-21 XR650L 2 O, 2 EE, or 6 Style 1 18.0

Husaberg

Husa 06 FE550E 2 O, 2 EE, or 6 Style 1 12.0

Husa 09 FE450 2 O, 2 EE, or 6 Style 1 12.0

Husa 2013 FE350 2 O, 2 EE, or 6 Style 1 12.0

Husqvarna

Husq 21 EE5 2 O, 2 EE, or 6 Style 3-4

Husq 17 TC50 2 O, 2 EE, or 6 Style 5

Husq 18-20 TC50 2 O, 2 EE, or 6 -- no obvious clean solution - ingenuity required…

Husq 21 TC50 2 O, 2 EE, or 6 Style 3-4
Might want to notch the right side fendor because of 

exhaust pipe

Husq 17 TC65 2 O, 2 EE, or 6 Style 5

Husq 18 TC65 2 O, 2 EE, or 6 -- no obvious clean solution - ingenuity required…

Husq 20 TC65 2 O, 2 EE, or 6 -- no obvious clean solution - ingenuity required…

Husq 15-17 TC85 2 O, 2 EE, or 6 Style 1 14.0

Husq 18 TC85 2 O, 2 EE, or 6 Style 3-4



12/28/2022    application_chart.xlsx

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

Husq 21 TC85 2 O, 2 EE, or 6 -- no obvious clean solution - ingenuity required…

Husq 06 CR125 2 O, 2 EE, or 6 Style 1 10.0

Husq 17 TC125 2 O, 2 EE, or 6 Style 5

Husq 19-22 TC125 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 23 TC125 2 O, 2 EE, or 6 Style 3-4 Use M6 x 16 bolts

Husq 15 TE125 2 O, 2 EE, or 6 Style 1 14.0 Use a small aluminum spacer on each side

Husq 09 WR125 2 O, 2 EE, or 6 Style 1 12.0

Husq 17 TE150 2 O, 2 EE, or 6 Style 5

Husq 20-22 TE150i 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 14 FC250 2 O, 2 EE, or 6 Style 1 14.0 Use a small aluminum spacer on each side

Husq 16-18 FC250 2 O, 2 EE, or 6 Style 5

Husq 20 FC250 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 23 FC250 2 O, 2 EE, or 6 Style 3-4 Use M6 x 16 bolts

Husq 17-19 FE250 2 O, 2 EE, or 6 Style 5

Husq 06 TC250 2 O, 2 EE, or 6 Style 1 10.0

Husq 10 TC250 2 O, 2 EE, or 6 Style 1 12.0

Husq 16 TC250 2 O, 2 EE, or 6 Style 1 15.0

Husq 17 TC250 2 O, 2 EE, or 6 Style 5

Husq 19-22 TC250 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 12 TCX250 2 O, 2 EE, or 6 Style 1 10.0
compatible with TC, TXC and WR with this body style - many 

years; just haven't measured them all

Husq 06 TE250 2 O, 2 EE, or 6 Style 1 10.0

Husq 14 TE250 2 O, 2 EE, or 6 Style 1 12.0 Customer says same as '13 'Berg

Husq 17-18 TE250 2 O, 2 EE, or 6 Style 5

Husq 19 TE250i 2 O, 2 EE, or 6 Style 5

Husq 20-23 TE250i 2 O, 2 EE, or 6 Style 1 18.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 09 WR250 2 O, 2 EE, or 6 Style 1 12.0

Husq 10 WR300 2 O, 2 EE, or 6 Style 1 12.0

Husq 12-16 TE300 2 O, 2 EE, or 6 Style 1 14.0

Husq 17 TE300 2 O, 2 EE, or 6 Style 5

Husq 19 TE300i 2 O, 2 EE, or 6 Style 5

Husq 20-23 TE300i 2 O, 2 EE, or 6 Style 1 18.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 18 TX300 2 O, 2 EE, or 6 Style 5

Husq 19 TX300 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 20-22 TX300i 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 23 TX300 2 O, 2 EE, or 6 Style 3-4

Husq 12 TE310 2 O, 2 EE, or 6 Style 1 12.0

Husq 15 FC350 2 O, 2 EE, or 6 Style 1 14.0 Use a small aluminum spacer on each side

Husq 16-18 FC350 2 O, 2 EE, or 6 Style 5

Husq 20-22 FC350 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 23 FC350 2 O, 2 EE, or 6 Style 3-4 Use M6 x 16 bolts

Husq 15, 23 FE350S 2 O, 2 EE, or 6 Style 1 14.0 Use a small aluminum spacer on each side

Husq 17 FE350 2 O, 2 EE, or 6 Style 5

Husq 19 FE350 2 O, 2 EE, or 6 Style 5

Husq 21 FE350 2 O, 2 EE, or 6 Style 1 16.0

Husq 20-22 FX350 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 23 FX350 2 O, 2 EE, or 6 Style 3-4 Use M6 x 16 bolts

Husq 11 TE449 2 O, 2 EE, or 6 Style 1 special 27.0 special order - extra long Style 1

Husq 14 FC450 2 O, 2 EE, or 6 Style 1 14.0 Use a small aluminum spacer on each side

Husq 16 FC450 2 O, 2 EE, or 6 Style 1 19.5

Husq 17 FC450 2 O, 2 EE, or 6 Style 5

Husq 18 FC450 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 19-22 FC450 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 23 FC450 2 O, 2 EE, or 6 Style 3-4 Use M6 x 16 bolts

Husq 17-18 FE450 2 O, 2 EE, or 6 Style 5

Husq 23 FE450 2 O, 2 EE, or 6 Style 1 16.0

Husq 19 FE450 2 O, 2 EE, or 6 Style 5

Husq 18 FX450 2 O, 2 EE, or 6 Style 5

Husq 19-22 FX450 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt



12/28/2022    application_chart.xlsx

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

Husq 23 FX450 2 O, 2 EE, or 6 Style 3-4 Use M6 x 16 bolts

Husq 06 TC450 2 O, 2 EE, or 6 Style 1 10.0

Husq 05 TE450 2 O, 2 EE, or 6 Style 1 10.0

Husq 15 FE501/501S 2 O, 2 EE, or 6 Style 1 14.0 Use a small aluminum spacer on each side

Husq 16 FE501 2 O, 2 EE, or 6 Style 1 14.0

Husq 17-18 FE501 2 O, 2 EE, or 6 Style 5

Husq 21-22 FE501 2 O, 2 EE, or 6 Style 1 16.0

Husq 20-22 FE501S 2 O, 2 EE, or 6 Style 1 16.0
Cut M6 bolts down to ~M6x12 or use larger spacers inside the 

bushing to space out the bolt

Husq 06 TC510 2 O, 2 EE, or 6 Style 1 10.0

Husq 08 TE510 2 O, 2 EE, or 6 Style 1 10.0

Husq 10 510TC, 510TE 2 O, 2 EE, or 6 Style 1 12.0

Husq 08 TE610 2 O, 2 EE, or 6 Style 1 11.0

Husq 16 Enduro 701 2 O, 2 EE, or 6 Style 1 17.0

Kawasaki

Kaw 06 KDX50 2 O, 2 EE, or 6 Style 1

Kaw 07 KDX50 2 O, 2 EE, or 6 Style 3-4

Kaw 04-'09 KX65 2 O, 2 EE, or 6 Style 1 11.0

Kaw 16 KX65 2 O, 2 EE, or 6 Style 1 12.0

Kaw 18-23 KX65 2 O, 2 EE, or 6 Style 1 12.0 2 Need longer bolt: M6 x 25

Kaw 04-'07 KX85 2 O, 2 EE, or 6 Style 1 13.5

Kaw 08-09 KX85 2 O, 2 EE, or 6 Style 1 13.0

Kaw 12 KX85 2 O, 2 EE, or 6 Style 1 11.0

Kaw 13-16 KX85 2 O, 2 EE, or 6 Style 1 13.5

Kaw 19-23 KX85 2 O, 2 EE, or 6 Style 1 13.0 8 Need 18 extra plastic spacers and M6 x 35 bolts

Kaw 04-'17 KX100 2 O, 2 EE, or 6 Style 1 13.0

Kaw 14-'16 KX100 2 O, 2 EE, or 6 Style 1 14.5

Kaw 17-21 KX100 2 O, 2 EE, or 6 Style 1 13.0 8 Need longer bolt: M6 x 30

Kaw 04-13

KLX110, 

KLX110L 2 O, 2 EE, or 6 Style 1 11.0 Need longer bolt: M6 x 30

Kaw 14-20

KLX110, 

KLX110L 2 O, 2 EE, or 6 Style 1 13.0 4 Need longer bolt: M6 x 30

Kaw 23 KX112 2 O, 2 EE, or 6 Style 1 9.0
Needs more spacers and longer bolts than come with 

the Tugger kit

Kaw 04 KX125F 2 O, 2 EE, or 6 Style 1 11.1

Kaw 04 KLX125 2 O, 2 EE, or 6 na 8.5 seat bracket style

Kaw 08-16 KLX140 2 O, 2 EE, or 6 Style 3-4 18.0 M8 is a tight fit through the grommet but it will work

Kaw 12-13 KLX140, 130L 2 O, 2 EE, or 6 Style 3-4 -- Must cut holes in plastic and feed Tugger through

Kaw 18-22

KLX140, 140L, 

140G 2 O, 2 EE, or 6 Style 3-4 --

Kaw 05 KDX200 2 O, 2 EE, or 6 Style 1 13.0
Kaw 00-02 KDX220 2 O, 2 EE, or 6 Style 1 12.5

Kaw 94 KDX250 2 O, 2 EE, or 6 Style 1 15.0 2

Kaw 20 KDX230 2 O, 2 EE, or 6 Style 1 13.0

Kaw 20 KLX230 2 O, 2 EE, or 6 Style 1 13.0

Kaw 20-22 KLX230R(S) 2 O, 2 EE, or 6 Style 1 13.0

Kaw 20 KLX250 2 O, 2 EE, or 6 Style 1 12.0

Kaw 98 KX250 2 O, 2 EE, or 6 Style 1 9.8

Kaw 01 KX250 2 O, 2 EE, or 6 Style 1 9.0

Kaw 03-21 KX250 2 O, 2 EE, or 6 Style 1 11.5

Kaw 22 KX250 2 O, 2 EE, or 6 Style 1 9.5

Kaw 04-18 KX250F 2 O, 2 EE, or 6 Style 1 11.5

Kaw 21 KX250XC 2 O, 2 EE, or 6 Style 1 9.0

Kaw 04 KLR250 2 O, 2 EE, or 6 Style 1 17.0

Kaw 06 KLX250 2 O, 2 EE, or 6 Style 1

Kaw 07-09 KLX250S,SF 2 O, 2 EE, or 6 Style 1 12.0

Kaw 98 KLX300R 2 O, 2 EE, or 6 Style 1 12.8

Kaw 00 KLX300R 2 O, 2 EE, or 6 Style 1 12.8

Kaw 04 KLX300R 2 O, 2 EE, or 6 Style 1 12.8

Kaw 20-22 KLX300R 2 O, 2 EE, or 6 Style 1 10.0

Kaw 03 KLX400S 2 O, 2 EE, or 6 Style 1 11.0

Kaw 08 KLX450R 2 O, 2 EE, or 6 Style 1 11.0

Kaw 06-18 KX450F 2 O, 2 EE, or 6 Style 1 11.5

Kaw 19-23 KX450 2 O, 2 EE, or 6 Style 1 9.5

Kaw 21-23 KX450X 2 O, 2 EE, or 6 Style 1 9.5

Kaw 00 KX500 2 O, 2 EE, or 6 Style 1 12.0



12/28/2022    application_chart.xlsx

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

Kaw 01 KX500 2 O, 2 EE, or 6 Style 1 14.5

Kaw 04 KLR650 2 O, 2 EE, or 6 na

KTM

KTM 99-17 50 (all) 2 O, 2 EE, or 6 Style 3-4  
KTM 18-22 50SX 2 O, 2 EE, or 6 Style 3-4  May want to slot the plastic for the webbing to pass thru

KTM 02-14 65SX 2 O, 2 EE, or 6 Style 3-4  remove seat to install

KTM 17-18 65SX 2 O, 2 EE, or 6 Style 1 17.0

KTM 19 65SX 2 O, 2 EE, or 6 Style 3-4

KTM 20 65SX 2 O, 2 EE, or 6 -- no obvious clean solution - ingenuity required…

KTM 08-09 65XC 2 O, 2 EE, or 6 Style 3-4  remove seat to install

KTM 02-12 85SX 2 O, 2 EE, or 6 Style 3-4

KTM 13-17 85SX 2 O, 2 EE, or 6 Style 1 13.0

KTM 20-23 85SX 2 O, 2 EE, or 6 Style 1 16.0

KTM 08 85XC 2 O, 2 EE, or 6 Style 3-4 11.0 open end version

KTM 06-09 105SX 2 O, 2 EE, or 6 Style 3-4 12.0 remove fender to install

KTM 08 105XC 2 O, 2 EE, or 6 Style 3-4 11.0 remove fender to install

KTM 02-03 125SX 2 O, 2 EE, or 6 Style 1  

KTM 04-06 125SX 2 O, 2 EE, or 6 Style 3-4  

KTM 07-13 125SX 2 O, 2 EE, or 6 Style 1 15.0

KTM 17 125SX 2 O, 2 EE, or 6 Style 1 17.5

KTM 20-22 125SX 2 O, 2 EE, or 6 Style 1 22.0

KTM 21 125XC 2 O, 2 EE, or 6 Style 1 22.0

KTM 07-08 144SX 2 O, 2 EE, or 6 Style 1 15.0

KTM 09 150SX 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-14 150SX 2 O, 2 EE, or 6 Style 1 14.0

KTM 17-18 150SX 2 O, 2 EE, or 6 Style 1 18.0

KTM 19 150SX 2 O, 2 EE, or 6 Style 1 22.0

KTM 10-11 150XC 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-14 150XC 2 O, 2 EE, or 6 Style 1 14.0

KTM 18-19 150XC-W 2 O, 2 EE, or 6 Style 1 18.0

KTM 22 150XC-W 2 O, 2 EE, or 6 Style 1 21.0

KTM 01-03 200EXC 2 O, 2 EE, or 6 Style 1 10.5

KTM 04-06 200EXC 2 O, 2 EE, or 6 Style 1 12.8

KTM 04-05 200SX 2 O, 2 EE, or 6 Style 3-4

KTM 06 200 XC-W 2 O, 2 EE, or 6 Style 1

KTM 06-07 200 XC 2 O, 2 EE, or 6 Style 1 13.0
KTM 08-11 200 XC, XC-W 2 O, 2 EE, or 6 Style 1 15.0
KTM 12-15 200 XC, XC-W 2 O, 2 EE, or 6 Style 1 14.0

KTM 22 200XC-W 2 O, 2 EE, or 6 Style 1 21.0

KTM 15 250 Freeride 2 O, 2 EE, or 6 Style 1 21"

KTM 17 250 Freeride 2 O, 2 EE, or 6 Style 1 21"

KTM 01 250EXC 2 O, 2 EE, or 6 Style 1 10.5

KTM 04-06 250EXC 2 O, 2 EE, or 6 Style 1 12.8

KTM 08 250EXC 2 O, 2 EE, or 6 Style 1 15.0

KTM 18 250EXC-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 03-06 250SX 2 O, 2 EE, or 6 Style 3-4

KTM 07-11 250SX 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-16 250SX 2 O, 2 EE, or 6 Style 1 14.0

KTM 19-21 250SX 2 O, 2 EE, or 6 Style 1 22.0

KTM 06 250SXF 2 O, 2 EE, or 6 Style 3-4 13.0 NO tapped holes in subframe stubs; can't use Style 1

KTM 07-11 250SXF 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-15 250SXF 2 O, 2 EE, or 6 Style 1 14.0

KTM 16-18 250 SX-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 19-20 250 SX-F 2 O, 2 EE, or 6 Style 1 22.0

KTM 23 250 SX-F 2 O, 2 EE, or 6 Style 3-4

KTM 08-11 250XC 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-14 250XC 2 O, 2 EE, or 6 Style 1 14.0

KTM 18 250XC 2 O, 2 EE, or 6 Style 1 18.0

KTM 19 250XC 2 O, 2 EE, or 6 Style 1 22.0

KTM 20 250XC tpi 2 O, 2 EE, or 6 Style 1 22.0

KTM 07-11 250XC-F 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-14 250XC-F 2 O, 2 EE, or 6 Style 1 14.0

KTM 17-18 250XC-F 2 O, 2 EE, or 6 Style 1 17.5

KTM 19-20 250XC-F 2 O, 2 EE, or 6 Style 1 22.0

KTM 07 250XCF-W 2 O, 2 EE, or 6 Style 1 12.0



12/28/2022    application_chart.xlsx

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

KTM 08-11 250XCF-W 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-15 250XCF-W 2 O, 2 EE, or 6 Style 1 14.0

KTM 23 250XCF-W 2 O, 2 EE, or 6 Style 3-4

KTM 07-11 250XC-W 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-16 250XC-W 2 O, 2 EE, or 6 Style 1 14.0

KTM 17-19 250XC-W 2 O, 2 EE, or 6 Style 1 18.0

KTM 20-23 250XC-W 2 O, 2 EE, or 6 Style 1 22.0

KTM 04-06 300MXC 2 O, 2 EE, or 6 Style 1 13.0

KTM 04-06 300EXC 2 O, 2 EE, or 6 Style 1 13.0

KTM 08 300EXC 2 O, 2 EE, or 6 Style 1 15.0

KTM 06-07 300XC 2 O, 2 EE, or 6 Style 1 12.8

KTM 08-11 300XC 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-16 300XC 2 O, 2 EE, or 6 Style 1 14.0

KTM 17-18 300XC 2 O, 2 EE, or 6 Style 1 18.0

KTM 19 300XC 2 O, 2 EE, or 6 Style 1 22.0

KTM 20-22 300XC 2 O, 2 EE, or 6 Style 1 22.0

KTM 06-07 300XC-W 2 O, 2 EE, or 6 Style 1 12.8

KTM 09-11 300XC-W 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-16 300XC-W 2 O, 2 EE, or 6 Style 1 14.0

KTM 17-19 300XC-W 2 O, 2 EE, or 6 Style 1 18.0

KTM 20-23 300XC-W 2 O, 2 EE, or 6 Style 1 22.0

KTM 11 350 (all) 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-15 350 (all) 2 O, 2 EE, or 6 Style 1 14.0

KTM 16 350 EXC-F 2 O, 2 EE, or 6 Style 1 14.0

KTM 18 350 EXC-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 21-23 350 EXC-F 2 O, 2 EE, or 6 Style 1 22.0

KTM 16-18 350 SX-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 19-22 350 SX-F 2 O, 2 EE, or 6 Style 1 22.0

KTM 16-18 350 XC-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 19-22 350 XC-F 2 O, 2 EE, or 6 Style 1 22.0

KTM 16 350 XCF-W 2 O, 2 EE, or 6 Style 1 14.0

KTM 20 350 XCF-W 2 O, 2 EE, or 6 Style 1 22.0

KTM 99 380EXC 2 O, 2 EE, or 6 Style 1 11.0

KTM 01 400SX 2 O, 2 EE, or 6 Style 1 10.5

KTM 01-02 400E/MXC 2 O, 2 EE, or 6 Style 1 10.5

KTM 03-06 450SX 2 O, 2 EE, or 6 Style 3-4  

KTM 07-11 450 SX-F 2 O, 2 EE, or 6 Style 1 15.0

KTM 20-21 450 SX-F 2 O, 2 EE, or 6 Style 1 21.0

KTM 23 450 SX-F 2 O, 2 EE, or 6 none no clean solution - ingenuity required…

KTM 03 450EXC 2 O, 2 EE, or 6 Style 1 10.5

KTM 18 450EXC-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 04-07 450 (all) 2 O, 2 EE, or 6 Style 1 14.0

KTM 08-11 450 (all) 2 O, 2 EE, or 6 Style 1 15.0

KTM 12-15 450 (all) 2 O, 2 EE, or 6 Style 1 14.0

KTM 16 450 XC-W 2 O, 2 EE, or 6 Style 1 14.0

KTM 17-18 450 XC-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 19-22 450 XC-F 2 O, 2 EE, or 6 Style 1 21.0

KTM 23 450 XC-F 2 O, 2 EE, or 6 Style 3-4

KTM 23 450 XCF-W 2 O, 2 EE, or 6 Style 1 21.0

KTM 06-07 450SMR 2 O, 2 EE, or 6 Style 3-4 13.0

KTM 12-16 500 (all) 2 O, 2 EE, or 6 Style 1 14.0

KTM 18 500EXC-F 2 O, 2 EE, or 6 Style 1 18.0

KTM 20-22 500EXC-F 2 O, 2 EE, or 6 Style 1 22.0

KTM 22 500XCF-W 2 O, 2 EE, or 6 Style 1 21.0

KTM 08-09 505XCF 2 O, 2 EE, or 6 Style 1 15.0

KTM 02 520EXC 2 O, 2 EE, or 6 Style 1 10.5

KTM 01 520EXC 2 O, 2 EE, or 6 Style 1 10.5

KTM 04-05 525MXC 2 O, 2 EE, or 6 Style 1 14.0

KTM 04-07 525EXC 2 O, 2 EE, or 6 Style 1 13.5

KTM 07 525XC 2 O, 2 EE, or 6 Style 1 13.0

KTM 06 525SX 2 O, 2 EE, or 6 Style 3-4 14.0 NO tapped holes in subframe stubs; can't use Style 1

KTM 08-11 530 (all) 2 O, 2 EE, or 6 Style 1 15.0

KTM 06 560 SMR 2 O, 2 EE, or 6 Style 3-4

KTM 96-04 LC4 2 O, 2 EE, or 6 Style 1 15.5"

KTM 04 625 SXC 2 O, 2 EE, or 6 Style 1 15.5"



12/28/2022    application_chart.xlsx

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

KTM 02 LC4-640E 2 O, 2 EE, or 6 Style 1 18.5"

KTM 06-'07 All XC 2 O, 2 EE, or 6 Style 1 14.0

KTM 06-'07 All XC-W 2 O, 2 EE, or 6 Style 1 14.0

KTM 09-16 690 Enduro 2 O, 2 EE, or 6 none    no obvious clean solution - ingenuity required…

KTM 04 950 Adv 2 O, 2 EE, or 6 Style 1 18" 12

LEM

LEM 05 RX3 2 O, 2 EE, or 6 Style 1 10.0

Sherco

Sherco 2017 300 SE-R 2 O, 2 EE, or 6 Style 1 18.0
Sherco 20 300 SC 2 O, 2 EE, or 6 Style 1
Sherco 05-08 450 enduro 2 O, 2 EE, or 6 Style 1

Sherco 05-08 510 enduro 2 O, 2 EE, or 6 Style 1

Sherco 18-19

125 to 500 SC 

& SE 2 O, 2 EE, or 6 Style 1 15.0

Sherco 20-22

FSE300 

Factory 2 O, 2 EE, or 6 Style 1 16.0

Sherco 20

500 SE-F 

Factory 2 O, 2 EE, or 6 Style 1 16.0

Suzuki

Suz 07 JR50 2 O, 2 EE, or 6 Style 3-4

Suz 03, 04 RM65 2 O, 2 EE, or 6 Style 1 10.8 12

Suz 19 DRZ50 2 O, 2 EE, or 6 Style 3-4

Suz 08-18 DRZ70 2 O, 2 EE, or 6 Style 3-4 With M8 bolts it's a tight fit but will work

Suz 04 RM80 2 O, 2 EE, or 6 Style 1 10.4

Suz 07-23 RM85 2 O, 2 EE, or 6 Style 1 11.0

Suz 04 DRZ110 2 O, 2 EE, or 6 Style 1 10.8

Suz 04 DRZ125 2 O, 2 EE, or 6 na 8.8 seat bracket style

Suz 04-06 DRZ125L 2 O, 2 EE, or 6 na seat bracket style

Suz 07 DRZ125L 2 O, 2 EE, or 6 Style 3-4

Suz 08-18 DRZ125L 2 O, 2 EE, or 6 Style 1 10.0

Suz 04 RM125 2 O, 2 EE, or 6 Style 1 10.3

Suz 06 RM125 2 O, 2 EE, or 6 Style 1 10.0

Suz 15-19 DR200S 2 O, 2 EE, or 6 Style 1 16.0

Suz 98 RM250 2 O, 2 EE, or 6 Style 1 10.3

Suz 00 RM250 2 O, 2 EE, or 6 Style 1 10.3

Suz 04-08 RM250 2 O, 2 EE, or 6 Style 1 10.5

Suz 04-23 RMZ250 2 O, 2 EE, or 6 Style 1 11.0

Suz 07 DRZ250 2 O, 2 EE, or 6 na na

Suz 01 DRZ400S 2 O, 2 EE, or 6 Style 1 11.0

Suz 04-07 DRZ400S 2 O, 2 EE, or 6 Style 1 11.0

Suz 00-04 DRZ400E 2 O, 2 EE, or 6 Style 1 10.5

Suz 09 DRZ400 2 O, 2 EE, or 6 Style 1 11.0

Suz 09-16 DRZ400SM 2 O, 2 EE, or 6 Style 1 11.0
Could also mount to brackets farther back than the seat 

- 15" in that case

Suz 19 DRZ400 2 O, 2 EE, or 6 Style 1 11.0
Could also mount to brackets farther back than the seat 

- 15" in that case

Suz 09 DRZ400Dual 2 O, 2 EE, or 6 Style 1 11.0

Suz 17-18 RMX450Z 2 O, 2 EE, or 6 Style 1 11.0

Suz 06-11 RMZ450 2 O, 2 EE, or 6 Style 1 11.0

Suz 12-17 RMZ450 2 O, 2 EE, or 6 Style 1 12.5

Suz 18-23 RMZ450 2 O, 2 EE, or 6 Style 1 10.5

Suz DR650 2 O, 2 EE, or 6 Style 1 15.0

TM

TM 15 85MX 2 O, 2 EE, or 6 Style 1 11.0

TM 07-09 250 enduro 2 O, 2 EE, or 6 Style 1 14.5

TM 00 300 EN 2 O, 2 EE, or 6 Style 1 10.0

TM 21 EN300FI 2 O, 2 EE, or 6 Style 1 10.0 2021 TM EN300FI

Yamaha

Yam 08-22 PW50 2 O, 2 EE, or 6 Style 3-4

Yam 05-22 TTR50 2 O, 2 EE, or 6 Style 3-4

Yam 81 PW80 2 O, 2 EE, or 6 Style 1

Yam 04-06 PW80 2 O, 2 EE, or 6 Style 3-4

Yam 04-15 YZ85 2 O, 2 EE, or 6 Style 1 10.5

Yam 22 YZ85 2 O, 2 EE, or 6 Style 3-4 Have pics

Yam 04 TTR90 2 O, 2 EE, or 6 Style 3-4



12/28/2022    application_chart.xlsx

M
a

k
e

Y
e

a
r

M
o

d
e

l

F
ro

n
t 

S
ty

le

R
e

a
r 

S
ty

le

A
d

ju
s

t 

T
u

g
g

e
r 

le
n

g
th

 

to
..

.,
 

in
c

h
e

s

E
x

tr
a

 

p
la

s
ti

c
 

s
p

a
c

e
rs

?

E
x

tr
a

 

a
lu

m
in

u
m

 

s
p

a
c

e
rs

?

Notes

Yam 08 TTR110 2 O, 2 EE, or 6 Style 1 12.0

Yam 09 TTR110 2 O, 2 EE, or 6 Style 3-4

Yam 12 TTR110 2 O, 2 EE, or 6 Style 1 12.0

Yam 16-20 TTR110 2 O, 2 EE, or 6 Style 3-4

Yam 01-07

TTR125, 

TTR125L 2 O, 2 EE, or 6 Style 1 10.5

Yam 08-12

TTR125, 

TTR125L 2 O, 2 EE, or 6 Style 1 11.0

Yam 13-18

TTR125, 

TTR125L 2 O, 2 EE, or 6 Style 1 11.0
Right side mounts under plastic; left side needs 8 

plastic spacers and M8x35 bolt

Yam 19

TTR125, 

TTR125L 2 O, 2 EE, or 6 Style 3-4

Yam 22

TTR125, 

TTR125L 2 O, 2 EE, or 6 none no clean solution - ingenuity required…

Yam 00-01 YZ125 2 O, 2 EE, or 6 Style 1 8.8

Yam 02-07 YZ125 2 O, 2 EE, or 6 Style 1 10.5

Yam 20 YZ125X 2 O, 2 EE, or 6 Style 1 10.0

Yam 09 TW200 2 O, 2 EE, or 6 Style 3-4 Need to double check if M6 or M8 bolts

Yam 04 XT225 2 O, 2 EE, or 6 Style 1 14.3

Yam 04 TTR225 2 O, 2 EE, or 6 Style 1 15.5 frame has M8 threaded holes to use

Yam 06-20 TTR230 2 O, 2 EE, or 6 Style 1 9.5

Yam 05 TTR250 2 O, 2 EE, or 6 3-4 special  Special, longer style 3-4: 28" 'tween grommets

Yam 02-06 WR250F 2 O, 2 EE, or 6 Style 1 9.5

Yam 07-12 WR250F 2 O, 2 EE, or 6 Style 1 10.5

Yam 15-22 WR250F 2 O, 2 EE, or 6 Style 1 10.0

Yam 08-09 WR250R 2 O, 2 EE, or 6 Style 3-4 street legal; uses two seat mounting bolts underneath

Yam 12 WR250R 2 O, 2 EE, or 6 N/A Customer reports neither Style 1 nor Style 3-4 work

Yam 14-16 WR250R 2 O, 2 EE, or 6 Style 3-4 Customer very happy - see pics

Yam 08-09 WR250X 2 O, 2 EE, or 6 Style 3-4 need to trim the plastic a bit

Yam 96 YZ250 2 O, 2 EE, or 6 Style 1 10.0

Yam 99 YZ250 2 O, 2 EE, or 6 Style 1 9.0

Yam 01 YZ250 2 O, 2 EE, or 6 Style 1 8.5

Yam 02-06 YZ250 2 O, 2 EE, or 6 Style 1 10.0

Yam 17 YZ250 2 O, 2 EE, or 6 Style 1 10.5

Yam 01-12 YZ250F 2 O, 2 EE, or 6 Style 1 10.0

Yam 13-18 YZ250F 2 O, 2 EE, or 6 Style 1 10.0

Yam 19 YZ250F 2 O, 2 EE, or 6 Style 1 9.5

Yam 15 YZ250FX 2 O, 2 EE, or 6 Style 1 10.0

Yam 20 YZ250X 2 O, 2 EE, or 6 Style 1 10.0

Yam 09 XT250 2 O, 2 EE, or 6 Style 1 11.0 replaces existing handles - have to trim the plastic a bit

Yam 98 YZ400F 2 O, 2 EE, or 6 Style 1 8.6

Yam 01 WR426F 2 O, 2 EE, or 6 Style 1 8.8

Yam 02 YZ426F 2 O, 2 EE, or 6 Style 1 8.6

Yam 04-07 WR450F 2 O, 2 EE, or 6 Style 1 9.1

Yam 08-17 WR450F 2 O, 2 EE, or 6 Style 1 10.5

Yam 20-22 WR450F 2 O, 2 EE, or 6 Style 1 9.0

Yam 04-06 YZ450F 2 O, 2 EE, or 6 Style 1 9.1

Yam 08-12 YZ450F 2 O, 2 EE, or 6 Style 1 10.0

Yam 13-17 YZ450F 2 O, 2 EE, or 6 Style 1 10.0

Yam 18 YZ450F 2 O, 2 EE, or 6 Style 1 9.0

Yam 19-21 YZ450F 2 O, 2 EE, or 6 Style 1 9.5

Yam 18 YZ450FX 2 O, 2 EE, or 6 Style 1 10.5

Yam 19-20 YZ450FX 2 O, 2 EE, or 6 Style 1 9.5

Yam 84 IT490 2 O, 2 EE, or 6 Style 1 20.5

Yam 92 WR500 2 O, 2 EE, or 6 Style 1 17.2


